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Linecar Motion In Class Test Review

Iy Circle the bigger one: A}

A, Cenfimeters of ¢

B. Micrometers o miImElers 1
€. Kilometers of megameterar

D, {Centimeters}r millimeters?

Convert 18 nv/s o meters per min,

0O m
= M\lim

3} An object moves 120 m in 15 seconds.
Caleutate the object’s speed,

4} An object moves |8 m/s. How fong does
it take the objest to move 154 m?

3) Spead or velocity:
A person walks 0.3 /s to the cast,
- T,

5=t = ) 8= I e A E
(}: 2 2 § / € d > i‘g‘&(}’:’{ é's_ ,_,y 6) Scalar or vector:
£\ C—\Zew 8M / £: 9 ® “__E'w A car is moving 30 m/s, N
lys= 07 & ¢ € " b = T0 Scelv (o dwies)
Object A l ] . . * s o s s 1 73y The tape timers at the left show 4 objects moving to the
eight. The dots show the positions of the objects each
Object B l e s e T T P second.  Which ebjects apply io the following?

G, D Constant speed.

Objec{Cl-toaoloo---ti.noaol

A3 D Accelerating,

Decelerating.

Pesitive acceleration,
(- At constant velocity.

. Acceleration = D,

) Distance increases
Starts at rest,
Is stopping, :

A C Constant direction,
Negalive acceleration.
L’« Vi = v]

8) A car begins at a stop sign. It ends up going 100 min 6.5 seconds. Find the car's acceleration,

Variables: Equation and solve:
o 7 ' Ounls ‘ /a4 4 #%
#3£ 100w & _ g
PvFesse. = £ Or (s €3+ (Yoat?)

9 .- or o7 ,
A, T Acceleration of an object that is moving to the left and speeding up?
B. = Acceleration of an object that is moving up and slowing down?

. Velocity of an obiect that is moving to the right?
D._O Displacerment of an object that ends at its starting position?
E. ™= Acceteration of an thrown object at the top of its path?

F. = Displacement of un object moving 1o the left? _ (’?3%"4
10)  What is the acceleration of a full bottle of water droppad from a desk?
11} When an object is dropped or thrown into the air, what is iis acceleration?
© 12} An object dropped from a 4 m tall roof. :ﬁy-—»"‘qm and vi= QWl_ .

(Sl

13} An object is thrown 10 mvs into the air. How high does it go? vsow\li pa=T 2;am:i V= _L

100w = ( Opmls- b53e Yo (6 5T

An empty botile? 6

el ¥

pignt = 1

14} A person throws a ball into the air at 6 /s from the ground. When it conies back, v, = bv"lk L a="fl f‘,}‘ﬂnd Ays Om |

15) “Sitting on the dock of the bay, wasting time” with my sister. I get bored and push her off the Z m dock. How fast is she moving
when she belly flops into the water? (And more importantly how badly is she goinrg to hurt me when she catches me?)

Variables Eguation: Solve: ;
A - 18 m[c> N 7 -
aﬁ L UF2=U2 + 200y p2: (Owmk)
Vi 7
Vi Onls

t @

16} What is the velocity 6f the stop sign in the car's frame of reference? (Oun ,S
17y What is the motoreyclist's velocity relative to the car? {O WA / )

30 mfs
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18) Inithe graphic above, the car is at constant speed between’ the first two pﬂsmmz:, and between the lasttwo posltmns
Between Lhe middle two' posmom itis accelerating. Calculale its accg

O\" "‘V'ﬁ YZwnls - ZW\)S ﬂ_"‘_"_’i :2)\”1[_‘-2

Use'tie three motion gr a;)h*; belof ro answer the following questions.

= = 5
19) “What doss the slope of the: graphs belowtell us: Graph I VQ!OCt h . Graph 2: £ gQ(M’«‘L— Graph 3; ’v’lﬁﬂ]lrxfé

.20)' “Transterthe following graphs. Eachvertical square is I m; each horizontal square is | see.
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21} Use the graph at the right to answer the foliowing 205 o
A. Give the linear equation for the graph at the right.

22043

<o — trn G
\‘ . wictb “fz oo 200+
Y= - TIOm 7’;):“ s 180 N
B. Where is the object on the graph at 4.2 seconds? 160

£
0s _s¥ils - 425 220w S RN

o
£ ™,
W hat does the y-intercept tell uSTaBGUT this object? 5 N

Position vs. Time

40 ™
e ks A% 2O 20
D What is tha speed of the geaph? 0
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E, Transfer the position graph to the velocity and acceleration Time {sec)

graphs below.
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